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Instructions for the candidales:
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Candidates are required to give their answers in their own words as lar as practicabile.
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Figures in the right hand margin incicate full marks.
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15 Minutes of extra timedias been allotted for the candidates to read the questions carefully.
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This Q'UE.'SHOH paper is divided into two sections — Section - A and gﬂan

ave —3 % 40 TGAE 7T & WWW?&W&?W:W%#}WW
SveTer #R T3 OMR - TV UAF 4 R T W& g @ @/ A a9 d W
freh o W B wEET,/Aved Varl,/ S,/ TG ST @ T g § WA Fvr
797 & ST ae e S g

) In Section - A, there are 40 objective type questions which are caiﬂpuﬁsa:y. each carrying 1 mark. Darken
the circle with blue/black ball pen against the correct option on OMR Answer Sheet provided to you.
Do not use Whitener/Liquid/Blade/Nail etc. on OMR Sheet; otherwise the result will be invalid.
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In Section - B, there are 22 short answer lype questions. Out of these, elght questions are from Physics,
I

seven questions are from Chemistry, and seven quostions are from Blology. Four questions are to be

answered from each subject (Physlcs, Chemistry and Blology). Each question carries 2 marks. Apart from
this. thete are 6 Long Answer Type questions. Two questions from Physics, Chenmistry and Blology. Long

answer type questions from Physics carries 6 marks and from Chemistry and Blology carries 5 marks

each. Answer of one from Physlcs, Chemistry and Blology is compulsory.
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e -3, SECTION - A
TS 9%/ Objective Tvno Questlons
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g g7 me ol Ree & OMR - e a7 e a9 (10X 1=40)

Question No. I to 40 have forr options, out of which only one is correct, You have to mark, your selected

aption, on the OMR - Sheel. (40 x1=40)
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(A} THE T R Mol v ar o
() waTE R by @ g
W mich phenomenon of light does the Tyndall effect show?

(A)  Reflectionof light - (B)  Refraction of light
(C)  Dispersion of light - (D) - Scattering of light -
ﬁ:vévmqmﬁmﬁ@ﬂuaﬁnﬂhﬁﬁmmm%‘?

(A) Ao | (B) [ <ua o

€ @ yaaw a9 AR \?@\m WA (D) dEFRR O
Which lens can be used ‘fb~ rrection of h)pElIHf:TrOpiil?
(A) Concave 1@5\ L (B) Convex lens

(C) Somcnmes concave lens and sometime (D)  Cylindncal lens

convex lens

a//fgaaui ﬂwﬁsﬁmwg? - h

ME{F’I . B A

M)  d
Which colour has the largest wave - length?
(A)  Red | (B Blue
(C) Yellow (D) Violet
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O W‘Ew%%ﬁ*@ﬁsf m  FEIeE A
2s et Bt fule, the tndex finger of the left hand indicates -

Anvrdmr X
A) Direy :@‘t it o i o 2 (B Dirsction of magnetic field
SUDSINEOT
O Direcger of e flow of elevmic curment (D) Nouw of these
2 2 Sedkweor
_h TeEEFmisT @ T T d
a2 B 3
WOy £ (m 5
"How many chamhers are prosent in human beart?
(Al 2 (B 3
iCr < (m N
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(A) A o (1) l“ SN REL
() wHoe-anad o ‘m' gorit & ang
Which one of the following lenses has positive focal length?
(A) Concave lens (B (‘onvex lens
() Plano-concave lens () None of these
« 10, O ) AR A om IRRIDR e M vy v if i afy ave wd B e g 1 Al
Rrer orr A R A R Ul & gy yRad s 82
(A) .a’l B)  ya&
Q) am () ga-dhorg
A rectangular coil of a copper wire is rotated in g magnelic field, The direction of the induced current

in the coil changes once in every -

(A)  Two rotations (B) One rotation
(C)  Half rotation - (D). . One - fourth rotation
11 - W aRaw F B fory SeRard) 7

B i ST & @) SRl

© TEE D @) NP
Which gas is responsi '%r the-global warming?

(A) _.- Carbon dioxide * (B)  Oxygen
AC)  Nitrogen (D)  None of these

A2 [ T g gx-fag 8 -

A) 257 (B) 25 WAL

© 25 @A DN S
' )

The far - point for the normal vision is -

(A)  25m | B) 25cm
(©)  25mm (D)  Infinity
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An example of hom
(A) Our arm and dog’s foreleg

() Potato and runners of grass
. . =1 amufe® Wad adl g7
M Rga 31'33 &
- (A) are

lC}qﬁz

\'r'hal is the commercial unit of cle

ologous nrgans ane - ,
(B) Our teeth and clephant’s tusks

(M All of the above

(B) aie /el
D) T | BlE A

ctric energy?
(B) Watt/our

{(A) Watt

{C) Unit (D) ,; None of these
\;JE?JW%QWE%WWWHW#WW%_

(A) STFEE \J.B‘f/ AT

(C)  TERT (D) T @S A8

The loss of oxygen from a substance during chemical reaction is called -

(A) Oxidation (B) Reduction

(©) Corrosion (D) None of these

P e i & |
| N | ;}/ v

(C} P @ feamT

(B) Eye

Nose (D) Brain

. @ 3K ar e TR S B aﬁ oYl 87

I | B A
(C) ey (D) gqof
Which among these do not act as an cndocrine gland as well as an exqcrine gland?
(A) Pancreas (B) Pitvitary gland
(8] Ovary (D) Testes
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tA) _ CH: (B) C-Hs
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Wihach of the following is unsaturated hydrocarbon?
(A) CH. (B) C:Hs
AQ CH M)  Allof these
;}_?.-— TR TN E STl e —~
)L g ®) =W
©  Sgs M) - T 5 25 A
Male reproductive part of flower is -
{A) Stamen B)  Pistl
Q3" Pesal (D)  None of these
}/?“‘ Fad m"E- hu':..rrc:! T SgTX .,q'. = TFR rrol T3 B = ﬁa E:" %_
(A) =% \_,CB{/W .
(€ T Eee oH RS D S eE TS
Accerding to NewCa:m'ﬁansign convention. the object distance of an object placed before a miror
1s taken - |
(A)  Positive (B)  Negative
(] Sometimes positive negative (D) None of these
Al_fE= “mﬁ,ﬁ§$m#WMWmﬁ?
(A FTEE $§ (B) WIS
-(C] qﬂ:i -.E fD] sqﬁ ?‘1 ‘H"?i
Which of the following compounds can be used as a fuel?
(A) Ethanol (B) Propanol
(C1  Ethanoic acid (D) Allof these
P T @ 3 T @ I R aea o 8
Ry @ " . ®) k-3
) - 3=y D) 7 E BE
How many bonds are formed between two atoms of hyvdrogen?
(A) Single bond (B) Double bond
(O Triple bond (D) None of these
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Which type of mode of nutrition is found in fungi?
Ry Saprophytic (B) Holozoic
(O Autotrophiv (D) None of these
M. @)y o N e @ R e @
A4 B 6
8 m 12
How many atoms of oxygen are there in one molecule of Glucose?
() 4 (B) 6
(A ™ n
18 e A g -ag @ R SeREri @ _
W T qoel arem B) Ty A HUSh ST A
() T SRR Y BT TET D) T A <l Jufe JeEs
Which is not responsible for Ganga's pollution? |
(A)  Fishfarming in Ganga (B) ' Washing of clothes in Ganga

(€) Immersion of unbumnt corpse in Ganga (D)

Emission of chemical effluents in Ganga

26, ﬁﬂzﬁmeW*%?ﬁmﬁﬁ—wwﬁ$mﬁﬁmmﬁ?

@) T \@§’ (B) _maﬁq_
O STd QQ (D) T DI T

‘:\" hich mirror is commenly used as rear-view mirror in vehicles? |

(A) Plane mirror (B)  Concave mirror

(C) Convex mirror None of these

_g?ﬁﬁ 3} PN IMER e 1 (AR P 7

(D)

@), A e I +B)

(C)  T@9, T e g

Which of the following constitutes a food chain?

(D)

U, 94 a7 79

(A)  Grass, wheat and mango (B)  Grass, goat and human
(C)  Goat, cow and elephant (D) Grass, fish and goat
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Bile juice is secreted from -

(A)  Pancreas B)  Liver
(C) Small intestine (D) None of these
2. =R W F Mrw FT@ A0F a2
\
&A‘I CH. ‘ (B) C:Hs
SO CaHa D)  CiHs

Which pf the following carbon compound is the most reactive?
(A) CHax (B) C:Hs

(C) C2Hs (D) CiHs

-~

30, TR AT T T G A e Pk 2 22

@ 4 B s
(et | \\@ ® 7
How many electrons a@ere in the-outer orbit of an atom of sulphur?
a) 4 @QQG l' ® 5 -
© s V0 ® 7
31 TR R A ST B R T D Aew sEend § -
RCVIRRS 15 1L o s B ®  Em
C) wjfEs™ ‘ D) THIAIR T
The process of forming a thick oxide layer on aluminium is called -
(A) Galvanisation (B) Anodising
(C) Enrichment (D) None of these
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= (A) AT (M 20X
) e D) @
Which of the following is an ideal source of energy?
(A) Coal (B) Wood ¥,
(C) Petroleum (D) Bio-mass
o M R o F wEi g @ -
(A)  CalOH): (B)- " CaOCly
(Cy  CaCO:s (D)  Ca(HCO3)z
The chemical formula for bleaching power is -
(A)  Ca(OH) (B)  CaOCl;
(C) CaCOs (D) .~ Ca(HCO3)2
M freifea 3 @ o Fafiar wolid) 87 ' |
«(A) wm‘n%w (B) A
(€)  WErdeT Q@ ‘ 0 THIPE T
Which of the followm%@ malarial parasite? |
(A) Plasm.:mmg@‘Z> (B)  Leishmania
(C) Prmoﬁ . (D) None of these
W ¥ o gﬂﬁﬂﬁ & eamw &
. | o |
,5( zﬂsﬁ, | . - (B) W
ﬂ/ Hm‘?m@/ @ AR T
Whrth of the foIIowmg is an example of r»::gemerat:mfJ
(A) Hydra (B) Amoeba
(C) Spirogyra (D) None of these
Page 10 of 16
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(A) 6
(O 8 ME“' |
1) 8
The pH value of pure water 1 -
RV & {® 1
IIU Y i 0
TR W ouend @@ fyeaw LT a2 &
L.
tA) W3 M
o Mua M
{ S M g a e ey
Which substance changes colour of Red Timyg into Blue? T
(A) Acud i} Base
({0) Salt (M None of these
R TR & 3 ﬁ:ﬁf’*—i uﬂ\.xﬁ ) g & ‘“T’"Hlt wuivE SN e T3 T -
- YN
‘l.-'ﬂ au-i g| ~ liﬂ UT B |
€ ulefie e ) D) = F s
On decreasing the number of resistors from 3 parallel combination of resistors. the total resistance
of the new combination of resistors in paralle] -
(A) Increases {B) Devreases
(0 Remains the same (M None of these
\ﬂf"'m u'-|.u4 & |¢_—T v "?&'E': $ Q@E ﬁ'.'? @ \AT-? IR ':'3_' c;u:..:q" -
A RE 3 ety M&z) frﬁ 8id £ BY R i e @ wdETE T 2
\LC,.'-' R & G,._, (6 R SRR 0 R 9 oty O wE e g
’ gl

S

Food cans are coated with tin, not with zine because -

(A) Zine 1s costlier than Tin. (B)
(C) Zine s more reactive than Tin. (M
A @ s P e
l—-"-’ )
A Ryiw (B)
(o2 i (n
Which is a non-biodegradable waste?
(A) Tissue paper (1)
(C) Thermocol 1l

Pﬂ:]l' tvol e
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wvs -9/ SECTION - B
#R—awgfre 7%/ Non - Objective Type Questions
oY ST y¥q / Short Answer Type Questions

Hifo® I/ Physics
W ST 1 #aagaa#vm?‘!m#w;ma}aﬂ??!mm‘ﬂuw

R &1 2=8)
Question No. [ to 8 is short answer type. Answer any 4 questions. Each question carries 2
(4x2=8)

yma@ﬁmmﬁm—mﬁw%mﬁaﬁwmﬂéﬂﬁ?
Why do we prefer a convex mirror as a rear-view mirror in vehicles?

e 5, 25 QA P v TR @ g @ dw T

is a normal eye not able to see clearly the objects placed closer than 25.cm?

Y
})aqiaﬁﬂﬁaﬁwﬁmﬁﬁﬁlﬁ%wmaﬁm?mzmwmmmaﬁwm%?

Define refractive index. The refractive index of diamond is 2.42. What is the meaning of this

(2)
2

* (2)

statement?

%aam$mmw@ﬁa$uﬁﬁﬂ$mwﬁmm@ﬁsﬁiwﬁﬁﬂﬁ (2)
wﬁm(ﬂlﬁ)ﬂﬁ'waﬁ%ﬁl

Draw a ray diagram for image of{an object placed on the principal axis of a convex mirror.
Write the nature, position and size of the image formed by thé mirror. .
}//ﬁgﬂwwﬂ? g o T S1 AT e |

What is electric current? Write SI unit of electric current.

6. U& fae o @1 sigwdie 60W; 20V, a’rlﬁqerarrgﬁ’raﬂa’rmmovﬁqm%nﬁm 2

g fge amyff 9 faelt awr ot SIRd @7
An electric lamp with voltage rating 60W; 220V is connected to main supply of 100V. What

@)

current is drawn by the lamp from the main supply?

1/ i AR & g w8

What is an earth wire? What is its function?

ﬁdma%mqﬁmmaﬁuéﬁaam%? | @)

Why does the sun appear reddish early in the morning?

" (2)

"l.
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it I v/ Long Answer Type Questions

TE &SI 9 3N 10 ﬂﬁﬂm’?ﬂmﬁﬁ##ﬁm%ww#;

| (6x1=8)
Questions No. 9 and 10 are long Answer Type questions. Answer any one of the
Sollowing. (6xI=6)

9. (@), T AT & @ AW I @ |

® ﬁmmﬁmmwﬁaﬁ??ma@ﬁﬁmwmmm
I o N e R P TR Fn B?
(@) Draw a well labelled diagram of human eye,
- (b)

.x.'/l'b-/;a}

How do ciliary muscles accommodate focal length of eye. lens to see nearby objects
and far objects?

e MWW
R, R,
ﬁl@' LR =R, + R>

ﬁﬁR.%ﬂmﬁWﬁmuﬁﬁﬁﬁmsﬂ?Rszmﬂ%l

Prove that R=R; +Ra
Where R is the equivalentyesistance of resistors R, and R, connected in series.
R, '
®) —YWAMAS—
—— 2 o

2

— AW

1.1 1
ﬁgaﬁ*ﬁ"‘f:""ﬁ .
el R, I § WA wfediesi Ry R R, B Guged WRRw 3
101 1 ‘
Provct_hat E"—-‘-"i—l‘l"g—z

Where R is the equivalent resistance of resistors Ry and I onnected in parallel.
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T A/ Chemistry
@Y gada U /Short Answer Type Questions
Tv7 qay 11 @ 17 @G ST 4T &) § B el 4 gl @ SR 3/ AT @ fo 2

aw P &1 ' (ax2=¢)

Queggion No. 1110 17 ix short answer type. Answer any 4 questions. Each question carries 2 .
(4x2=8)

(2)

marks.

y'msﬂwwwmzﬁmw—mmw|
Write one equation each for decomposition reaction and combi nat jon reaction.
Jo e v A ST o T )
Differentiate between washing soda and baking soda,

13. mﬁamﬁiﬁwmmﬁﬂﬁaﬁmawﬁ?wWﬁmﬁ? _ )

(2)

Why distilled water does not conduct electricity, whereas rain water does? -

%ﬁﬂmgmmﬁﬁ?ﬁﬁmga%ﬁw'?r‘ (2)

What are alloys? Give two Exung\@%fallujx \

V/,aﬁ*ﬂrﬁaﬂﬁé%

Girve two ways to pr&nl iron from rmlm"I
16, ¥AF 3R TETAREA A W | @)

Draw itie siructure for Benzeaz and Cycroncnane.

)

17. T 7 2 ngie e & e ard ol 4 T e Rufa 4w aey 27 (2) .
How the electronic configuration of an atom is related to its position in the Modern Periodic

table?
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del 3T W/ Long Answer Type Questions

v w18 3N 19 Wt G W& gy g e 0F BT e 2 (x1=5)

following.
18. F=iEia affsa) an #2
BTY weaF FhfFm
ai RT3
(i) TR IR

What are the following reactions?

(Sxl=5)

(t) Addition reaction
(1) Substitution reaction
() Esterification reaction
19 et § g @ P 4 wge 99 @ R
-

Write the steps involved in the extraction of metals from their ores.

SHafds™ / Biology
Y IR JH1 / Short Answer Type Questions

FET G 20 ¥ 26 @W@%?{W#WJM%Wﬂmmﬁw
& [EiRa &/ Q\Q‘&‘

2=s)

Question No. 20 a‘o@% short answer type. Answer any 4 questions. Each question carries 2

marks,

20 Ry et e R e ¥ afg 7

Differentiate between autotrophic nutrition and heterotrophic nuirition?
€T F41 €7 31 IRy & #1 AW Rl |

Define hormone? Name any two plant hormones.

22. T4 R IR ST B 7 SR B W &

Give reasons for adopting contraceptive methods?

© (4x2=8)
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~ Distinguish between self-pollination and cross- -polliriationd,

24, Maw o A g o W @)
What do you mean by biological magnification?

2. s R @ vaiERE T @ R < ge < @
Give two suggestions 10 make your school environment friendly? |

L . @

A rew 4 s R B T 87 .
How is food transported in plants? | '
[ ﬁ

& 38 79/ Lonig Answet Type

e i 27 3 28 e Gt W &1 5T R et o o ¢ (6=
Questions No. 27 and 28 are Long Answer Type" questions. Ai’:'ﬁfé'r any one of the
Jollowing. | (5x1=5)
wwaﬁaﬂwm@%wwmﬁm| 5)
Draw a well labelled di % of human dlgesuve' system and describe the dlgesuon of food. _
wwﬁawa%m%grwzruhaﬁl | ®)

Deséribe the structure of human brain.
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